Motion Along a Line ... Set 4

Rectilinear Motion

1. The position (in feet) of a skateboarder at any time t (in seconds) is given by
s(t)=t*-8t* +8t.

What are the velocity and acceleration functions in terms of £?
When is the skateboarder at rest?
What is the position of the skateboarder when it is at rest?

What are the position, the velocity, and the acceleration of the skateboarder at
three seconds and at five seconds?

What are the initial position, velocity, and acceleration of the skateboarder?

When is the skateboarder moving to the right and to the left? Use interval
notation.

When is the skateboarder speeding up and slowing down? Use interval notation.

What is the total distance traveled by the skateboarder over the first six
seconds?

2. The position (in meters) of a scooter rider at any time t (in seconds) is given by
s(t)=2t"-12t +6.

a. What are the velocity and acceleration functions in terms of ¢?

b

. When is the scooter at rest?

What is the position of the scooter when it is at rest?

What are the position, the velocity, and the acceleration of the scooter at two
seconds and at five seconds?

What are the initial position, velocity, and acceleration of the scooter?
When is the scooter moving right and left? Use interval notation.
When is the scooter speeding up and slowing down? Use interval notation.

What is the total distance traveled by the scooter rider in the first seven
seconds?
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Answers

1. The position (in feet) of a skateboarder at any time ¢ (in seconds) is given by
s(y=1> -8 +8¢.
V) =3t7-let +g

a. What are the velocity and acceleration functions in terms of ¢? A = 6 b6

b. When is the skateboarder at rest? + =.558,1.715 s
. .. . : = 979 = - 35,332
¢. What is the position of the skateboarder when it is at rest? s(.55%)= 2,141 y © (€775) v

d. What are the position, the velocity, and the acceleration of the skateboarder at three
seconds and at five seconds? ()= -2 w(m=-3 a(z)= 2

o i s(sy="35 w()= 3 asy=I4 :
€. What are the initial position, velocity, and acceleration of the skateboarder?

5a = O g =B 2y = ~lb
f.  When is the skateboarder moving to the right and to the left? Use interval notation.
eT + [0, .558]0[ans o) weer s [Lsw8, 4775
g When is the skateboarder speeding up and slowing down?. Use interval notation.
sP. we : (.553,2.407) 0 (4.775,00) Sc. oum s (0, .558) L (2.667,4.775)

h. What is the total distance traveled by the skateboarder over the first six seconds? 5y 954

2. The position (in meters) of a scooter rider at any time ¢ (in seconds) is given by
s(t) =25 —12t +6.

_ Vi) =2
a. What are the velocity and acceleration functions in terms of £? ol =4

b. When is the scooter at rest? += 3.
¢. What is the position of the scooter when it is at rest? $(3) = <

d. What are the position, the velocity, and the acceleration of the scooter at two seconds
and at five seconds? S(2) =-r0  v(2) = a(2z) =4
sys) = -4 wisy=E  afs) Y
¢. What are the initial position, velocity, and acceleration of the scooter?
S b W=z & o
f. When is the scooter moving right and left? Use interval notation.
er: [3,) P [0,3)
g- When is the scooter speeding up and slowing down? Use interval notation.
Seow (3,e) scopum (o, 3)
h. What is the total distance traveled by the scooter rider in the first seven seconds?

SO

3 (3 =12 \
32

7Y = .20 /
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3. Anballis thrown vertically upward from ground level with a velocity of 80 ft/sec.
a. When will the ball reach its maximum height?
b. What is the maximum height?
c. How long is the entire trip?
d. What is the ball's velocity when it hits the ground?

e. What is the velocity of the ball when itis 96 ft. off the ground?

4. Arock is jettisoned with velocity 40 ft/sec from the top of a cliff that is 100 ft. high.
a. When will the rock reach its maximum height? How high will it go?

b. What is the rocks velocity when it hits the ground at the base of the cliff?

5. Arock is thrown straight down with velocity 50 ft/sec. from the top of a 120 ft. cliff.
a. What is the velocity of the rock upon release?
b. How long will it take the rock to reach the base of the cliff?

c. What is the rock’s velocity at impact?

6. The position of an object is given by s(t)=t> - 6t>+9¢t. (t seconds, s meters)

a. What is the velocity after 2 seconds? After 4 seconds?
b. When is the object at rest?

c. When is the object moving forward?

d. Find the acceleration after 4 seconds?

e. When is the particle speeding up or slowing down? Use interval notation.
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Answers

3. A ball is thrown vertically upward from ground level with a velocity of 80 ft/sec.
a. When will the ball reach its maximum height? 2 .5's. 519 et ot
b. What is the maximum height? |00 Fr. W =-326480
¢. How long is the entire trip? 5 S.
d. What is the ball’s velocity when it hits the ground? —8&0 Fs
e. What is the velocity of the ball when it is 96 ft. off the ground? * % (s
-l *+got = ak —ip (£*-5¢ He) =0 vy = /b
k2480 e-960 g [ £-2)4-3) =0 V()= I
4. A rock is jettisoned with velocity 40 ft/sec from the top of a cliff that is 100 ft. high.
SIEY= et e4ot +log  wik) T-32t440 .25
a. When will the rock reach its maximum height? How high will it go? &&= / /25 Fr

b. What is the rocks velocity when it hits the ground at the base of the cliff? _ 59, 443 rrfs

5. Arock is thrown straight down with velocity 50 fi/sec. from the top of a 120 fi. cliff.
a. What is the velocity of the rock upon release? —5() Prf 5.
b. How long will it take the rock to reach the base of the cliff? /. 5%0 s.
c. What is the rock’s velocity at impact? y(, 550) = -/00.89% s,
6. The position of an object is given by s(f) =¢* —6¢* +9¢ (¢ seconds, s meters
VUE) = 3™ 12649 = 3 (£54L v = %&C“'ﬁ{* )
a. What is the velocity after 2 seconds? After 4 seconds? vizy= -3 vidy=19
b. When is the object at rest? =\ 3
¢. When is the object moving forward? Eﬂﬂ—_ls v Bum\
d. Find the acceleration after 4 seconds? Q=612 &) = 10-

e. When is the particle speeding up or slowing down? Use interval notation.
pw. (LYY (2,)

sc 0w {0,)0(2,3)



